
 

Interlake High School:  Bellevue, WA 98004 
(425) 456 – 7214 

saintsrobotics.com 

Bill of Materials 
Saints Robotics – Team 1899 

Quantity P/N Product Name Price (of individual 
product) 

1 ANG-22-25-4PK Angle 2x2 4-pk 14.99 
1 CHAN-121-35-4PK C-Channel 1x2x1 4pks 17.99 
1 BAR-25-8PK Bar 1 Wide 8 pk 12.99 
1 RAIL-21-25-4PK Chassis Rail 3x2 14.99 
1 276-2215 Bearing Pop Rivet 7.99 
1 KEPS-NUT-832-

65PK 
Keps Nut 8-32 Pack 1.99 

2 LOCK-NUT-832-
14PK 

Lock Nut 8-32 Pack 
 

2.99 

1 SCREW-832-14-
70PK 

1/4 in. 8-32 Screw 70-pk 4.99 

1 SCREW-832-38-
28PK 

3/8 in. 8-32 Screw 28-pk 1.49 

1 SCREW-832-12-
28PK 

1/2 in. 8-32 Screw 28-pk 1.49 

1 SCREW-832-34-
14PK 

3/4 in. 8-32 Screw 14-pk 0.99 

2 BEAM-PACK Standoff, Beam-Pack 15.99 
2 SHAFT-12-4PK 12" Square Bar Drive Shaft 4-pk 8.96 
3 BEARING-FLAT-

10PK 
Delrin Bearing 10-pk 4.99 

1 SPACER-4X-PACK-
10 

Spacers  1/8, 1/4, 3/8, 1/2 4.95 

7 276-2163 VEX Motor Kit 19.99 
1 276-2169 VEX Gear Kit 12.99 
2 276-2185 VEX Large Omni Directional Wheel Kit (4" dia, 

2 wheels) 
24.99 

1 276-2168 VEX Tank Tread Kit 29.99 
2 COLLAR-16PK Shaft Collars 16-pk 10.49 
1 SPACER-THIN-

20PK 
Thin spacer 20-pk 2.99 

1 SPACER-THICK-
20PK 

Thick Spacer 20-pk 2.99 

1 CABLE-TIE-4-
PACK-100 

4” Tie wraps 100-pk 4.95 

1 ZIP-TIE-11 11” Tie Wraps 100-pk 5.99 
1 RUBBER-BAND-

PACK-20 
#32 rubber band 20-pk 1.49 

1 VEX-LATEX-
TUBING-120 

VEX latex tubing, 10ft 9.99 

1 276-2170 VEX microcontroller  149.99 
2 RF-RECEIVER- RF receiver module 29.99 



 

Interlake High School:  Bellevue, WA 98004 
(425) 456 – 7214 

saintsrobotics.com 

Bill of Materials 
Saints Robotics – Team 1899 

MODULE 
1 276-2183 VEX 7.2 Volt Robot Battery 19.99 
1 276-2216 VEX Potentiometer Kit 12.99 
1 CABLE-PWM-6-

4PAK 
6 in. extension cable 19.95 

  Total: 700.87 
 

  


